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24	 The diagram shows a solid triangular prism.

4 cm

6 cm

7 cm

4 cm

	 Rana is trying to draw the side elevation of the solid prism from the direction of 
the arrow.

	 Here is her answer on a centimetre grid.

	 (a)	 Explain why Rana’s side elevation is not correct.
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	 (b)	 On the centimetre grid below, draw a plan of the solid prism.

(2)

(Total for Question 24 is 3 marks)

25	 A company has 25 000 workers. 
The number of workers increases at a rate of 6% per year for 3 years.

	 Calculate the total number of workers at the end of the 3 years.
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(Total for Question 25 is 4 marks)




